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8 12:20 12:10 = 400m 1 ~ 6 57.05 ~ 1.04.08 48
9 12:50 12:40 = 400m 7 ~ 12 1.04.12 ~ E28&74L 47
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5 11:50 11:40 E:] 800m 9 ~ 16 2.06.45 ~ 2.15.55 64
6 12:30 12:20 E:l 800m 17 ~ 23 2.16.00 ~ EBEREL 52
7 13:05 12:55 = 200m 1 ~ 9 2498 ~ 2851 72
8 13:45 13:35 % 200m 10 ~ 17 2854 ~ EERMEL 59
9 14:20 14:05 = 1500m 1 ~ 3 43593 ~ 5.28.79 54
10 14:45 14:30 £ 1500m 4 ~ 5 5.29.64 ~ ECERMEL 34
11 15:05 14:55 ES] 200m 23 ~ 33 2400 ~ 25.10 88
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5 11:09 10:59 E:] 100m 34 ~ 44 11.70 ~ 11.90 88
6 11:50 11:35 E] 3000mSC 1 ~ 2 9.16.10 ~ 10.30.00 36
7 12:20 12:05 E:] 3000mSC 3 ~ 4 10.30.00 ~ ER8RAL 36
8 12:55 12:45 E] 100m 45 ~ 55 1190 ~ 12.05 88
9 13:28 13:18 E:] 100m 56 ~ 67 1206 ~ 12.33 96
10 14:03 13:53 E:] 100m 68 ~ 79 1233 ~ 12.63 96
11 14:38 14:28 E:] 100m 80 ~ Of 1265 ~ ERfRALL 93
12 15:15 15:00 = 3000m 1 ~ 3 68
13 15:55 15:45 £ 4 x 400mR 1 ~ 3 3.50.00 ~ 4.20.06 21T
14 16:20 16:10 £ 4 X 400mR 4 ~ 6 42023 ~ EERAEL 20T
15 16:45 16:35 E:] 4 x 400mR 1 ~ 4 3.10.56 ~ 3.30.00 32T
16 17:15 17:05 E] 4 x 400mR 5 ~ 8 3.30.00 ~ 3.39.00 32T
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6 11:55 11:40 E:l 1500m 1 ~ 8 35489 ~ 42389 144
7 12:45 12:30 E:l 1500m 9 ~ 16 42434 ~ 44200 143
8 13:35 13:20 E:l 1500m 17 ~ 23 44200 ~ ER8RAL 119
9 14:20 14:10 % 800m 1 ~ 7 21273 ~ 2.31.46 56
10 14:55 14:45 % 800m 8 ~ 14 2.32.27 ~ EERLL 51
11 15:30 15:20 % 4 x100mR 1 ~ 4 46.34 ~ 53.77 32T
12 15:50 15:40 S 4 x100mR 5 ~ 7 53.78 ~ EoERAL 22T
13 16:05 15:55 ] 4 x100mR 1 ~ 4 4104 ~ 4376 28T
14 16:25 16:15 ] 4 x100mR 5 ~ § 4378 ~ 4480 28T
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